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BfERM S 5€128 48 (B) FrVESTLTHST
BgAE . AU 7 AN (REHDEE) SmAM: 60N (B : 50N - &iE:1A)
HOCPLERR : BBtk :36.4 - &tk :40.4 $THUYHTH: FT)L/— (PAR x 2)
RLA—IL: 0T D@®D®® IN WDB®ED® 172
RIBGRE : O—NYT 4 - E8 ENRI : %0 54128 48 (B)

I 432 SmE4 ouT IN GROSS HDCP NET 3
B B B R 46 45 91 28.2 62.8 |AE
EEH AL BE 44 46 90 26. 2 63.8 |AE

3 i |k RA 46 44 90 25.4 | 64.6 |AE

4 i1 | K¥EE F 43 47 90 | 22.3 | 67.71 |AE

5 if HAP EE 47 38 85 17.1 67.9 |AE

6 i |fNfE EF 44 41 85 16.4 | 68.6 |AE

1 i | FHE BUA 43 41 84 15,0 | 69.0 |BG AE

8 4ir | FHR 13 45 42 87 17.6 69.4 |AE

9 1|22 BE 02 03 105 354 | 69.6 |AE

10 i1 | Rk # o0 47 97 27.3 69.7 |AE

11 47 |hEF R 46 47 93 22. 1 10.3

12 i1 [l EE 48 43 91 20,0 | 71.0

13 46 &5H EZ8 iy 48 95 23. 1 11.3

14 £ |53 [l 49 39 88 16.6 11.4

15 fi | EH Z 50 44 94 21.9 12. 1

16 i | #5H HHE 45 o0 95 22. 1 12.3

17 L | &4 B 51 49 100 21.4 | 72.6

18 fif K B= 43 45 88 14.8 13.2

19 i1 | R &=H 54 ol 105 31.6 13.4

20 fif 3B NRE 41 44 85 10. 8 14.2 RUE

21 i |— 28 F 45 44 89 14.7 14.3

22 {1 |lUO fFE 49 o1 100 25.6 14.4

23 oL | KE S{E 93 o]/ 110 35.6 14.4

24 4 KWL $7A o1 48 99 24.5 14.5

25 i1 | #fm 1R iy 42 89 14.3 14.7

26 451 FEA ZE 06 46 102 21.3 14.1

27 i1 | /METR Bh 93 48 101 26. 1 14.9

28 i MK J5HA 54 ol 105 29.9 15. 1

29 fi |JbIE Sl 61 ol 112 36.4 | 75.6

30 i |FEAT =& 52 95 107 31.2 15.8 |RUE

31 6 |5 EF 49 ol 100 24.0 | 76.0

32 451 [JEH & 50 46 96 19.2 16.8 | 4AIE

33 L |FxH Hif 52 o0 102 25.2 716. 8

34 fI | NE ALK 43 47 90 13.1 16.9

35 {if [fflRE — Rk 52 95 107 30.0 | 77.0

36 I =ik ES 46 42 38 10.8 117.2

37 i1 |/ E FFHF 49 ol 100 22.6 117.4

38 fi AL 5= 53 48 101 23.5 11.5

39 4L |iFH F4E 95 o1 106 28.4 | 717.6

40 1 |BEIE 3B 90 93 103 25.3 171.7 RUE
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BB : S 55128 48 (B) FyYESITNLTHIST
BT AU TR (BREEHMESE) SmAM: 60N (B : 50N - &iE:1A)
HOCPLERR : BBtk :36.4 - &tk :40.4 $THUYHTH: FT)L/— (PAR x 2)
RLA—IL: 0T D@®D®® IN WDB®ED® 2/ 2
RIBGRE : O—NYT 4 - E8 ENRI : %0 54128 48 (B)

I 432 SmES ouT IN GROSS HDCP NET 3

ML hE TR 59 48 107 29.3 17.71

42 5L | BEE = 44 45 39 11.0 18.0

43 6L | AR B=* 25 o0 105 26.5 18.5

44 5 | Kig $R— 93 o1 104 25.0 719.0

45 1 |Hep =8 63 o1 114 35.0 79.0

46 5L | EM EIT 48 o0 98 18.9 79. 1

47 fL |JER &KX 53 47 100 20. 4 719.6

48 fi1 |TEfE] BB ER 61 95 116 36. 4 719.6

49 1 | &3 57/ 93 110 29.7 80.3

50 fiI | BiE & 54 47 101 20. 3 80.7 |RUE

51 fu | JIlA EX 45 49 94 13.2 80.8

52 i |&H EF 92 47 99 18.0 | 81.0

53 fi | 2 o4 47 101 19.5 81.5

% fiI | AiZFE RB o4 o4 108 26. 3 81.17

5 i |Bid E— 62 46 108 25.9 82.1

5 I | BFE & 47 49 96 13.6 82.4

57 L | A% BEih 59 63 122 36.4 | 85.6

58 i | HA —HA 54 92 106 19.3 86. 7

50 1 |HE BA 92 o4 106 16.6 80.4 | BBE

60 i |;EO FX o4 49 103 12.5 90.5 |[BME




